Simple Free-Energy Devices

There is nothing magic about free-energy and by “free-energy” | mean something which produces
output energy without the need for using a fuel which you have to buy.

Chapter 25: Power From A Pendulum

Veljko Milkovic’'s Pendulum/Lever System.

The general idea that it is not possible to have excess power from a purely mechanical device is clearly
wrong as has recently been shown by Veljko Milkovic at
http://www.veljkomilkovic.com/OscilacijeEng.html where his two-stage pendulum/lever system shows a
COP = 12 output of excess energy. COP stands for “Coefficient Of Performance” which is a quantity
calculated by diving the output power by the input power which the operator has to provide to make
the system work. This purely mechanical system has output power twelve times greater than the power
needed to swing the pendulum. Please note that we are talking about power levels and not efficiency.
It is not possible to have a system efficiency greater than 100% and it is almost impossible to achieve
that 100% level.

Here is Veljko’s diagram of his very successful lever / pendulum system:

Here, the beam 2 is very much heavier than the pendulum weight 4. But, when the pendulum is set
swinging by a slight push, the beam 2 pounds down on anvil 1 with considerable force, certainly much
greater force than was needed to make the pendulum swing.

As there is excess energy, there appears to be no reason why it should not be made self-sustaining by
feeding back some of the excess energy to maintain the movement. A very simple modification to do
this could be:




Here, the main beam A, is exactly balanced when weight B is hanging motionless in it's “at-rest”
position. When weight B is set swinging, it causes beam A to oscillate, providing much greater power
at point C due to the much greater mass of beam A. If an additional, lightweight beam D is provided
and counterbalanced by weight E, so that it has a very light upward pressure on its movement stop F,
then the operation should be self-sustaining.

For this, the positions are adjusted so that when point C moves to its lowest point, it just nudges beam
D slightly downwards. At this moment in time, weight B is at its closest to point C and about to start
swinging away to the left again. Beam D being nudged downwards causes its tip to push weight B just
enough to maintain its swinging. If weight B has a mass of “W” then point C of beam A has a
downward thrust of 12W on Veljko’s working model. As the energy required to move beam D slightly is
quite small, the majority of the 12W thrust remains for doing additional useful work such as operating a

pump.
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